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There are in all 30 questions in this question paper. All questions are
compulsory.

Question No.1 to 8 carry one mark each. Question N0.9 to 18 carry
two marks each, Question No. 19 to 27 carry three marks each and
Question No. 28 to 30 carry five marks each.

Question No.1 to 4 are multiple choice questions. Here four options
are given in each question. Write the correct option in your answer
book.

There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and all questions of 5 marks each. You have to attempt only
one of the given choices in such guestions.

Use log tables, if necessary. Use of calculator is not permitted.
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1. o A 9 59 voR o dremaE 97 2-
In the following, which type of colloidai system is Fog -
() wEea (i) 3 (i) A (iv) Tier

Aerosol Gel Emulsion Sol

2. =9 3 B el fova= & smafRa a=ar @ -
In the following, which one reduces Fehling solution -
(i) TNRH A (i) FNSH I (i) INAAfeID 30 (iv) WIS 3nA

Acetic acid Benzoic acid Oxatic acid Formic acid

el P+HI .
3. IffFaT CHOCH, + 4H — 52X + HO H X & -

In reaction, C,H.OC_H, + 4HRe4PHHL 5y 1 H.0, the X is -

(i) TAHAA (i) © (iii) 9 (iv) e

Ethylene Ethane Propane Butane

4, (I femHmtAdms -
Beri-Beri disease is caused by deficiency of which of the following vitamin -
() feRm8, () fefE-B, iy Fef=-8, (iv) Fefis-e,,

Vitamin-B, Vitamin-B, Vitamin-B, Vitamin-B

5. PVC oI Uhad a7 2XaT &7
What is the monomer of PVC?

6. [NiCl,]> IggR®I ], F&ld [Ni(CO),] Whgaara &, i?

[NiCl,]* is paramagnetic, while [Ni(CO),] is diamagnetic, why?

7. Frafofaa o araRr e & wed v ¥ foRav -
NH,, C,H.NH,, (C,H)),NH, CH.NH,
Arrange the fo'llowing in decreasing order of their basic strength-

NH,, C,H,NH,, (C,H,),NH, C,H.NH,
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10.

11,

12.

13.

14,

15.

8SicT i wabR Y itsfér &1 erRROR? - 1
Dettol is an example of which type of drug?
3T 12 FT FERIBE & ITANT IS - 2

Give the uses of Freon 12 and Chloroform.

i 31 TheeiaRor foc e § ar & afe s9a Piftsdr B BRI & T
4.077x10- JHl. T BT 10.5 T .2 F ) A H REOVE™T FZEA S
i 2
Silver crystallises in fcc lattice. If the edge length of the cell is 4.077x10-8 cm.
and density is 10.5 gm cm-3 then calculate the atomic mass of siiver.

foeeT STieds vd vebe Pifteat & fase Szl 2
Distinguish between Crystal Lattice and Unit Cell.
d-SId & DI | Teq AHHYT ded &) 8?7 BROT Afed e 2

Which of the elements of d-block are not transition element? Write with reason

PIRTe WSt B 8 TW (VMR 40) BT 57et § e 800 2 fyera Fwman wan| Rrery
& RieRar 5 BTl 2

8 gm Caustic Soda (Molar Mass 40) is dissolved in water and solution is made
to 800 cm3. Calculate the molarity of the solution.

- 3R1@T (OR)
e &1 Fraw T 87 39 1 A saiy|

What is Raoult's Law? Give its two limitations.

Frreieiae Je1 & fore 208 K R de aes 71 (e.m.f.) B TURET Bifde- 2
Zn|Zn?+(0.01M)| |Ag*+(1.0M)|Ag

298 KR Efy=1.56 V

Calculate the e.m.f. of the following cell at 298 K -
Zn|Zn?+(0.01M)||Ag*(1.0M)|Ag

Eey=1.56 V at 298 K
TRivsTara sTTae Rizrd & < 3 wwens| 2
Give a brief account of Valence Bond Theory,
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16. memmﬁﬁaé?wﬁmﬂmaﬁu%ﬁw
T AT AT YR W AT fosan S et &1 2

How to antiseptics differ from disinfectants? Name a substance which can be
used as antiseptics as well as disinfectants.

3 (OR)

et @Y v FaTeRYT Tfed TwEEY - 1+1=2
(&) PO AERD (@) TR IRRE®

Describe the following with an exampie -

(a) Artificihl sweeteners  (b) Food Preservatives

17, FrefufRem o e S )

(F) leTel JEIRTSS (1)  CH,=CHCI
(@) ST TeREs (2)  CCLF,
(M) R aREs (3)  CH,=CHCH,CI
(7) W3 (4) C,H,CH,C
Match the foliowing : .
(a) Alyl Chloride (1)  CH,=CHCI
(b) Benzyl Chiloride (2)  CCL,F,
(c) Vinyl Chloride (3)  CH,=CHCH,CI
(d) Freon (4) C,H,CHLCI
18, VP T WYY S56E B IaTeRVT Higd THHAS | 2
Define Natural and Synthetic polymers with example.
19. faepa Tamafe Soit o B &2 s @ sra ferfau| 3

What is Electrochemical series? Mention its important applications.

20. () Rvsa ywa T 2? 1%
What is Tyndall effect?

(@) SR eggiaarss S Dioige! Gaa- § Wi FoREs fdoa e | w1 &
ST g, | 1%
Coagulation takes place when Sodium Chloride solution is added to Colloidal
solution of Ferric Hydroxide, why?

3Yd1 (OR)
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(P)

(&)

21. (@)

(@)

IR, STEIURTERT a2 FRRR) e a 8 &7 1v2
What are Isotonic, Hypotonic and Hypertonic solution? |
3 ReTa 351 TRIRIRT 379 3.2 &, e 97 eiex & 20°C T 45 70 oo g &1
ferardics R % W o TORT BN (YT BT IFUR=342) 1%
The Osmatic pressure of a solution, containing 45gm of sucrose dissolved. .
per liter of solution at 20°C, is 3.2. Calculate the value of cqnst_aht_'__iﬁ‘j_;-' -

(molecular weight of sucrose=342) | I
e} o1 TR R @S i e e e o T ey Forers Prepfor
ST 394N BT 21 | 2

Draw a labelled diagram of Blast furnace and write the name of any one

metal for extraction of which this furnace is used. . .
degfafem & W 3re & A a9 faRael S
Write the name and formula of the chief ore of Aluminium. '

AU (OR)

AR & 2 T 3! & AW T G e | st v 3w < werat vt o R oy e
&1 guie Bt qen IS wiexor 9§ ate| 3

Give

the name and formula of two main ores of Iron. Describe the method to

obtain Cast Iron from one of its ore and give chemical reaction also.

22. FfaRea w wfere ol faReae - 1v2+1%=3
Write short notes on the following -
(F) STEUSANBROT (@) CHIgEl & HTEH
Diazotisation Reduction of Amides

23. 293K R 3T & 919 &§ 17.535 mm Hg & 3 25g @™ o 4509 et W Ot at
293K R S & a1 31§ TRSford el 3

Vapour pressure of water at 293K is 17.535 mm Hg. Calculate the vapour -

pressure of water at 293K when 25g of glucose is dissolved in 450g of water.
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24, TE-16 ¥ YOI § 1 & Taw # R aRads wwnge - 141+1=3

Explain the trends in property in Group-16 as given under -

() M= TRIe () IifERNGIOT e
. Ionization Enthalpy Oxidation State
(1) g oA
Electron Negativity
25. o & IawEsY - - 1+1+1=3

Define the following -

(@) FTATA BT (T) MRS @ wes

Reducing 'Sugar QOligosaccharide Protein
26. () FfoRea & soa e o fefae - 2
Write down the electronic configurations of the following -
(i) Cu* (i) Co?*
(@) <HAT T Fpe AT ol g1 &2 1

Why do transitional elements form Complex compounds?

27. C,H, 0 3UGF & O THIGTE! & Ra=T G qan 389, .. F. 7w ferfael 3

Write structural formula and IUPAC name of three isomers of molecular formula
C,H, 0.

3120aT (OR)
B & e srfifan fafew - 1+1+1=3

Write the following reactions of Phenol -
(@) DA B T HNO, F fomam
Reaction of Phenol with con. HNO,
(@) Py i
Kolbe's reaction
(M EER-Ene sl

Reimer - Tiemann reaction

28. () ffsar & P ¥ Far ard &7 wem BT & ffear &1 v 3eExer S
DT, IUTawaT ¥ 59 vor = &2 3

What do you understand by order of reaction? Give an example of a
reaction of first order. How order of reaction differs from molecularity?
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(=)

()

(@)

gheaor F31 o A &0 ot sl o 3 Reris fow ToR Hisaor FHaf |
Tateerd 2iar 27 2

What is activation energy? How is the rate constant of a reaction related to
its activation energy?

3Rl (OR)
wer Bife e & o viiga  ore & geatd il 3

Derive the integrated rate equation of first order reaction.

vE e Pife st o fafde sffsar a 2.31x10-3 s &) 39 Fffear
@ 3% TG 71 BfSe | 2
A first order reaction has a specific reaction rate of 2.31x107? sec™.
Calculate Half life period of the reaction.

29. (¥) sircdie R e/ MRS spe & Fefor & oofF el ww=fea IRt
aitifsar &1 wiiexor W i e T 87 3
Describe the preparation of Nitric Acid by Ostwald process. Give chemical
equation of the related reaction also. What is aquaregia?

(W) B T 3t wanreen Rt S qen wwafa sffsar & wfesor & foRae|
, 2
Give the laboratory method of preperation of Phosphine and also write
equation of the reiated reaction.
3Rl (OR)
(@) 9 HCI A C, T Cl, ¥ HCI S Wi HA? Faa sifufesard afsel 3
How can you prepare Cl, from HCl and HCI from Cl,? Write reactions only.
(@) &ero™ Wi ot 8 &2 1
Why are halogens coloured?
(M) =7 & A Cl, P i fafaw 1

Write the reaction of Cl, with water.

30. U BEio i 'A' H 69.77% P14, 11.63% &880 31 A 3ifa=iiarm &1 alfiid &1
o g 86 &1 7 Aifie ciedt e Y JEia T8l o &, TR SaH
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EIBSIST TCHIST B T TNTHD IS &R & 3R ITARInrd uiaioT $ft JRefel ¥ gt
&1 yae TR T R T PAAISD 317 3R IRIgs 30 T 81 A ‘A’ & wva
g Aot ve IRt siflfisane o fRae 5
An organic compbund 'A' contain 69.77% Carbon, 11.63% Hydrogen and rest
is Oxygen. The molecular mass of the compound is 86. It does not reduce
Tollen's Reagent but forms an additional compound with Sodium Hydrogen
Sulphite and gives positive Iodoform test. On vigorous oxidations it gives Ethanoic
acid and Propenoic acid. Write the possible structure of compound 'A' and also

give chemical reactions.
31Ar (OR)
Fr=feriRad aifiisearst & e Thiexer gfgg TRa- 1x5=5

Write the following reactions with chemical equations—

(@) Frg afireds & o a6 | T

Reaction of Grignard reagent with dry ice

(@) tfifes LIRISgEE &1 et uue
Hydrolysis of Acitic anhydride

(1) WeRHH-oIE HAfufhar
Gatterman-Koch Reaction

() Sers ffhar
Etard Reaction
(F) vesId e tsafearn

Aldol Condensation Reaction

3 o ok ke
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